- The Cost of Al -

It takes a lot of energy / to train an Al // OpenAl's ChatGPT-4 needed an
estimated 7,200 megawatt hours / to complete its training / over a period of five to
six months. // That is enough energy / to power 3,400 Japanese households / for one
year. // In human terms, / a construction worker would have to work for 3.4 million
years / without any vacation days / to use that much energy. //

As more people use more Als, / more energy will be needed. // One analyst
predicts / that "by 2027 the Al sector could consume / between 85 to 134 terawatt
hours each year," / roughly as much energy as the Netherlands requires. //

The construction, maintenance, and disposal of datacenters (the body of an
Al) requires more than energy. // Large amounts of water are used for cooling, / and
the problem of electronic waste / (responsible for 70% of global surface-level toxic

pollution) / has yet to be solved. // We must all remember / that Al does not work
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__ [Listen & Fill Blank]

 [Q&A / A&Q]

It takes a lot of energy to an Al. OpenAl's ChatGPT-

4 needed an 7,200 megawatt hours to

its training over a period of five to six months. That is enough energy to

3,400 Japanese

for one year. In human

, a worker would have to work for 3.4

million years without any vacation days to use that much energy.

As more people use more Als, more energy will be needed. One analyst

that "by 2027 the Al sector could between

85 to 134 terawatt hours each year,"roughly as much energy as the Netherlands

requires.

The construction, , and disposal of datacenters (the

body of an Al) requires more than . Large amounts of water are

used for cooling, and the problem of electronic (responsible

for 70% of global surface-level toxic ) has yet to be solved.

We must all that Al does not work for free.

Question 1: How much energy did it take to train ChatGPT-4

Question 2: Why does Al not work for free?

Question 3: Do you like AI? Why or why not?
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Sample Answer 1: 7,200 megawatt hours.

Sample Answer 2: It must be powered, cooled, maintained, and disposed of

when no longer usable.

Sample Answer 3: Yes. Al will make life easier, and become our friend.

No. Al is dangerous and we shouldn’t trust it.

Sample Question 1: By 2027, Al is expected to use as much electricity as
which country? /

Which country uses 85-134 terawatt hours each year?

Sample Question 2: What produces 70% of surface toxic waste? /
Where does electronic waste come from?

How can electronic waste be recycled?

Sample Question 3: How much does an Al weigh?
From where comes our energy?

Can Al function without the internet?




